


ICoupled Oscillator Design

FirstPass
D Poc = ImW ,

V = IV
,
Un =

580mv = 8
S L S

Cout = 20fF .

2) Iss = E =
IMA ;

Vod
-

T x
0 . 58

= 4552-Rp = TV 4 X 10-3 -

3) ↳: 455
-

= 0 . 905 nH
= - -

8 x2πx,010
B .Wo

↳ =with I 280fF-fF
= 27.

-

P W
=Sum with 10 fingers.
T -
-
Effect of Tail

Current
- The two

branches#are

Tr = inflicker + Tnwhite correlated&
⑳

↓ ↓
-i in

how Wideband.
11 &

- #
If

freq - Common Mode

(fo) noise



-List(LTV)

Flickernois

ea
mostly as AM↳im
Significant /
-

Current mirror : !
-

-
CLM Coeff

-

MEM
Iss

Ip = (b.Voss &

Iss or
1 + X Vos , 7(W)4 um my
significant 0 .5 X 20M

-

When L-min. Ox 45m

(Flicker)
Noise : Noise of M4 is amplified by

the current

N

mirror's Gain.



greeingthe Noiseis Flicker Noise

spectrum.
nu 11 out

"

↳ Larger area averages
Flicker Noise .

the impact of
↑ "

↳t
NSpies
-


